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Answer ALL the questions. 
(30 Marks) 

r or items 1 to 15, each stem is followed by four options lettered A to D. Read each item 
( zrefully and circle the letter that corresponds to the correct or best option . 

. ··· :i; straight line which divides-a circle into parts and is terminated at each end by the 
_ · -,:umference .> £!" . 

. ·'\. arc 
(JS) chord · 
C. diameter 
D. segment 

l ~f the figure below to answer questions 2 - 3. 

:, :l he value of the angle marked x . 
. '35c / 
3 .. 70" 
0 t-w~ 
D. :::20° 
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3. Find the value of the sum of reflex LBOD andLBAD. 
A.140°___/ 
B. 210° 
0 290° . 
D. 360° 

P, Q and Tare points on the circumference of a circle with centre, 0. The line AB is a tangent to the 
circle at T, PQ = TQ, and LATP =58° 

. Q 

--'r---Iii --- p --- 

Diagram NOT 
accurately drawn 

A 

Use the information to answer questions 4 to 6. 

4. Calculate L. OTQ . / 
([)29° '7 
B. 32° 
C. 61 ° 
D. 90° 

B 

5. Calculate _!--PTQ . / 
A. 32° _/ 
B. 58° 
<fl 61 ° 
D. 122° 

6. Calculate LPTB . 

A.32° / 
8. 61° 
C. 90° 
(0)122° 
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7. In the diagram below, MOL is a diameter, L.LMN = y and LMLK =(Sy+ 6)0• 

N 

Find the value of y. 
A. 14 
B. 16 
C. 20 

{fv. 21 / 

. c.~ - sj + ~ J ~ ' - 
10·· (, :: ~j 
il{ :: ~~ 

8. Which of the following is not a Pythagorean triple? 
A. (6, 8, IO) / 
B. (9, 12, 15) 
@ (10, I 1, 12) 
D. (12,16,20) 

mis ra or nee wi h I ngth 8 m. Fin .he 

-k. 
-z.. 

C. 3° cm / \ 5',t. .., X' \'l..-,..h 
D. 0cm / - 'i 6 

10. The area of ~re\vith base length of 12 cm is 156 cm", Find its height. 
e}J,26cm 
B. 34 cm 
C. 51 cm 
D. 62 cm 

A, B. C and D are points on the circumference of a circle with AC as diameter. LABD = 54 ° a d 
LBAC = 28°. 

Diagram NOT Ii~---~ ---- accurately drawn 

--- Use the information to answer questions 11 to 13. 
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11. CalcuiateJLACD. 
A. 28° 
® 54° 
C. 64° 
D. 116° 

12. Calculate LEAD . 
A. 28° 
B. 36° 
C. 54° 
@ 64° / 

13. Calculate LBCD. 
® r 

116° 
B. 64° 
C. 54° 
D. ,36° 

14. In the diagram below, PQR is right angled triangle. 
p 

26cm 

R......_ ....,.9 
24cm 

Calculate the perimete} of the triangle. 
{f)socm d-- 
B. 58 cm 
C. 60 cm 
D. 120 cm 

15. Find the value of x in the diagram below. 

'l,. 
:>c'l.. - 32 + L( -lcrn :t 

q +- l6 -; 7S 

A. 10 cm y· B. 7 cm f. 5cm 
. 3 cm 
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